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Seven questions may be answered.

tendent.

1. Solve the equation ax®*4-bx+¢=0, and prove thafR
. b
the sum of the roots is equal to =7
(

(i) If one root of that equation is double the others
root what is the relation between a, b, ¢ ]
[2{3 marks. [

2. Solve the following simultaneous equations :—

|
P
|! (1) 3—; 15}:—31
| e S
x o J
(il) 2x—y=3

28 marks.] '8

|
Mathematical Tables may be obtained from the Su 361‘111- _

|
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. 3. A bus, plying between A and B which are 30 milés!
anart, trav els at a certain speed. But one day the wpeeﬂ
Liad to be reduced by 6 miles per hour and the bii
reached B 25 minutes later than usual. Calculate thél

usual speed. [28 marks.}S8

4, For what value of a is

234 a(x+1)(¥—5)—(x*+-7x+-8) divisible by | 1#2)3

Assuming that 4 has that value, solve the eq: 1'1t1€m
2. v a(x41)(x—5)—(x2 —|—11—}-S)—0

[28 marks.]
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orise the following :—
! X4'_ x2y2+9y4;

) 6(a-+- D)2+ (a*—2ab — W)y —ba—b)y®
) [28 marks.]

is the fifth term of an A.P. and 8 is the ninth

d the first term and the common difference.
jany terms of the series are positive? How
§ must be taken so that their sum is equal to

[28 marks.]

€ population of a certain city increased from
at the rate of 49, per annum for 5§ years.
period of 8 years it decreased from year to
 rate of ¥9, per annum. If the population at
the 13th year was the same as it had been
ing of the first year, what is the value of x ?
[29 marks.]

ind the maximum value of 6—4x—3x2;

) For what range of values of  is that expression
‘positive ?

te your answers by a rough graph.
[29 marks.]

two geometrical progressions each of which
of the following conditions : the sum of the
d terms to exceed the second term by 21,
of 5 times the first term and twice the second
L to 3.

- [29 marks.]

W a graph of 2x®—-3x between the values
%=-2, and describe shortly the changes in
alue of the function in that interval,
om the graph that there is a value of x for
expression becomes equal to 3, and that

hree values of x for which it becomes equal

[29 marks.]



